12 )R A2 B RE R

(BRI A)

X 4 BEX 5 B
FIRER 1,388 1,511 2,899
K :%2&‘% X 1,378 1,345 2,723
EIRERX 883 946 1,829
INE 3,649 3,802 7,451
FARERX 992 986 1,978
" FEHHER 1,194 1,151 2,345

= -

FOHRERX 809 833 1,642
ING 2,995 2,970 5,965
FIHREX 270 270 540
T R EIRER 560 576 1,136
INE 830 846 1,676
AIER FEIRER 515 513 1,028
EI0HRER 402 395 797
BNERER 446 470 916
= Z F12RER 332 354 686
BIHER 680 727 1,407
INET 1,860 1,946 3,806
& FIHRER 489 472 961
EISHER 631 635 1,266
X & F16HRER 328 302 630
INET 959 937 1,896
BITHRER 490 483 973
& F F1RER 694 680 1,374
INET 1,184 1,163 2,347
EIRER 1,110 1,009 2,119
ASFA FHRER 353 336 689
INET 1,463 1,345 2,808
EA/RER 636 614 1,250
= 4 ERHRER 385 357 742
EIHER 1,033 1,035 2,068
INET 2,054 2,006 4,060
EUHRER 302 300 602
EBHRER 949 882 1,831
A TF F26IRERX 717 740 1,457
TR ER 987 991 1,978
INET 2,955 2913 5,868
2 H FRER 777 865 1,642
x F2RER 639 640 1,279
EIHER 977 973 1,950
E | %31?&%‘;8 653 638 1,291
HERFRER 624 579 1,203
INET 2,254 2,190 4,444
EIHER 479 385 864
EMERER 551 509 1,060
R 8 FEIHRER 220 244 464
EIBHER - - 0
INET 1,250 1,138 2,388
_af 23,873 23,746 47619
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